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Secondary Math 3 0
Simplify the following radicals.
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Multiply the following radicals and SIMPLIFY. '
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Use the division property of radicals to simplify.
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Convert into radical form and SIMPLIFY.
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Convert into exponential form. You do not need to simplify.
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Solve for x.
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Based on the graph, are the following functions one to one?
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Find the inverse of the following function.

27. f(x)=3x-5 28, f(x)=x*—4
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29. f(x)=3x+7 30. f(x)=4x"-3
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State the transformations graph and state the domain and range.

32. f(x)=—Vx-4+2
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